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Q1.

1.

Option A:

XiXsXaXs = 0

Option B:

X1X3+x,=0

Option C:

Option D:

2

Optlon A

A drqsé‘"%calculation of Operand

truction execution

and DDR stands for

SDRAM stands for
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Option A:

Synchronous dynamic Random-Access Memory, Double: D

Option B: | Synchronous dynamic Read/Write Access Memory, Dou ble Data
Option C: | Static Dynamic Random-Access Memory, Dynamlc' )
Option D: | Static Dynamic Random-Access Memory, DoubleDa
6. Suppose that a bus has 16 data lines and requires 4 cycles of 250 nsecs each to
transfer data. The bandwidth of this bus would be 2 megabytes/sec. If the cycle-
time of the bus was reduced to 125 n secs and the number of cycles requlred for .
transfer stayed the same. What would the bandw1dth of the bus? &L
Option A: | 1 Megabyte/sec
Option B: | 2 Megabytes/sec
Option C: | 4 Megabytes/sec
Option D: | 8 Megabytes/sec
T
Option A:
Option B:
Option C:

Option D: _

8.

Option A:

Option B:

Option C:

Option D:

-32- b1t PCI expansmn slots ona motherboard Lowdes speed

alf-duplex: 33 MB/s (32-bit at 33 MHz — the standard configuration) 266 MB/s
(32-bit at 66 MHz) 66 MB/s (64-bit at 33 MHz) 33 MB/s (64-bit at 66 MHz)

(32-bit at 66 MHz) 266 MB/s (64-bit at 33 MHz) 533 MB/s (64-bit at 66 MHz)

‘Half-duplex: 133 MB/s (32-bit at 33 MHz — the standard configuration) 266 MB/s

“Half-duplex: 166 MB/s (32-bit at 33 MHz — the standard configuration) 266 MB/s
-(32-bit at 66 MHz) 266 MB/s (64-bit at 33 MHz) 566 MB/s (64-bit at 66 MHz)

“Half-duplex: 128 MB/s (32-bit at 33 MHz — the standard configuration) 266 MB/s
32-bit at 66 MHz) 266 MB/s (64-bit at 33 MHz) 566 MB/s (64-bit at 66 MHz)

3 C.D //R3-—>M[C]+M[D] /I

R4, C,D // R4 — M[C]+ M[D] //
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Q.2

Solve any Four out of Six.

A) | Compare the terms Computer organization with Com: 9
B) | Perform the following —
)
ii)
i)
Q)
D)
E) | What is Cache Memory? A 32 b chpu

8kB of cache memory. T
Each l1ne size is 16 bytes,’

,c@., ‘gtef‘f“ﬂ@vz fpu

05

05

05

Merm:zy

f.oad o AC f Mode

Address = 500

Next instruction

450

700

800

32s

300

dressing Mode Effective address | Content of AC

ct address

Indexed address

Register indirect

05
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D)

to Register A).

E) Explain with suitable diagrams, why DRAM cell fe%zngd_ '
System? P
F)
Q.4
A)
B)
(Dividend) / 3 (Divisor).
C) Draw logic circuit diagram Ma 05
D) 05
D) 05
F) 05
. |‘P> . g .
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